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1 (a)
(b)
1 (a)
(b)
2 (a)
(b)
2 (a)
(b)

ENGLISH VERSION

Write definition with example :
(1) Set Builder form

(2) Infinite set

(3) Union of sets

(4) Complimentary set

(5) Difference of two sets.

IfU={1,2345064={236} B={13,5 6]} verify that
@® (4duB)'=ANB
(i) (A4nB)'=A4'UB'

OR
If A, B, C are any three sets then prove that
AU(BUC)=(4AuB)u(4uUC)

If 4={2,4} B={56,7} find
A X B, Bx A, A2 and B2

. 1 1 . n
(1) Prove that (n—l)!+(n—2)!_(n—1)!

Q) If 1.7 =6 "7, find x.

If we arranged all letters of the word ZENITH
as per dictionary, find Rank of the word ZENITH.

OR
@ If °c,,:'C,=7:4 find k.

() If 24x’C ="p find n.

A bag contain 5 white, 4 green, 3 red balls. 3-balls
are selected at Random. How many selection are possible
in such a way that

(1) all balls are same color

(i) 2-balls are same color, one is different

(@ii1) all ball are different colors.
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3 (a)

(b)

Using Newton's formula find y when x =20 :

x: |14 1181221263034
y: 3035142 |51]|62]75

Find missing values :

To[5 [10[15]20]25
v |7 11| = [18] = |32
OR

3  Using Lagrange's formula find y when x =35 :

4 (a)
(b)
4 (a)
(b)

x:[25] 30 | 40 | 50
521673 (84.1(94.4

4
(1) Expand : (X—gj

X
3

(i) Find value of (J§ +1) (JE —1)3.

Find sum of coefficient of x** and x 7 in

1 15
Expansion of (X4 —x—3j .

OR
With the help of Mathematical Induction prove that
1-4+2-5+3-6+.....+n(n+3) = ”(””2(’”5)

O If 7 =4n*+2n+1 find S,.
@11) Find sum of
11 +12% +13% +...... +22%.
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